EARAROBEEIERT — 2 N— IBISH —F

2019568128 (oK) 3EI/1IIE3H

IGN N EDEETYT | NBOZER

C1= ¥45%—#&

‘ [R1&] & ‘ [RERBE] — | & (&) 14000 &

[AE<%] 17 :1,200,000 § 2 7&:456,000 F 3 7 :300,000 4

4 7% :180,000 F 5 j& : 144,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
L OERR :32. 02— . — HEAN (815)
1M N M R # 6 B0 1(3_2)1 2-2-2-1 41.0 2 :’7‘:—;) T ]
RiAL L3 R—F— BFrIEFLAY A 1B
- s FREZ :32. -1-1- . — e Az (1)
2011 |3vFavIINT as 4 54.0 1(5/24)3 EU R 6 ?_Ef) =iEH
L:2xXH~ R BNIXF TS5 Ks
o FREER : —6-8- — 1eiEiEae (1)
 : FIEECECIY H 5 zh 1.(312>.5 6-6-8-8 | 40.9 3 (5:90) i
L:d—IWKRT7Y21—)l BANIE—AQ—-X A FEI
. &S . 77— _ SRE— (I
N > BIEEEVE S S fo4 | BEE 173%:? 8-7-7-4 | 40.9 1 4+43 Eii%ﬁgnlmﬁ)
R:TYF—Y v KEAT ) | Bmatt AfExz—T0
- e KEHEZ :32. —-8-9- . — WA (fafE)
5177 J=T4 4 2INT b "5 56.0E 1?12)8 789 4.8 8 ;1:322) INEIRB R "
R:TF4=TTVI7 BT v1%—-Ya BRES 455
-3, 5 4 6 | I3 1:33.4 8-9-4-3 | 41.7| — 7 473 | FHBE (#818)
6 g|=>/F1FhF 56.0 3) ) EH
L:F 1 —=TAHhA B:Ar)-—HOrl-— HE Sk
s = FEEA : —5-6— — gt (1)
lgliol v 759 7T0- it 6 He 1.(32?3.8 5-5-6-4 | 42.3 5 ;1:17) ol
R:TUHA XTI K B:INHYX [EEEe]
PN B : -10-10- - IigEse (1)
glzlg| VAT T - R 5 (12'314/23) 10-10-10-10) 41.3 ° (fig) IR
AT RSAY B bhy—F kX #ILEYS
< Sy s A TREERA A :35. -3-3- . — HAFME (1115)
9/5|5|3IvEF-—RTVT R 1(355)4 ARl s ‘ 3718) BhEm
RZRFAT—LR BT AT -2 ZATYLY =L e
— & B2 th1Z :35. —4-4— . — EEME (H)
10l8l 9 =%y 4 5 = 1(315)6 4-4-4-6 | 44.3 10 (4_712) L
L:vavuFrrhe7 B:Fryu-—v¥ory— k&
® 1—F—@EBIERL
13—4+— 1,4,5,9,10,3,7,(2,6),8
2d—F— 1,4,5,9,10,3,2,7,6,8
Ja=5= 1,4,5,(6,9),10,2,3,7,8
AT =5F= (1,4),6,(2,10),(5,9),3,7,8
[ N5
BB 4 360M | | 71 K 1-4 750 | | B E 1-4 3,710 | | 3ER. 1-3-4 3,330M
B B 4 130H4 3-4 350M e B 4-1 7,480M JEE 4-1-3 24,2904
1 300H 1-3 1,000M B & 1-4 3,090
8 1609 B H 4-1 6,500

ABICOVWTRDTEEERROODE. TR LIV,




